

GENERALIZED HERMITE POLYNOMIALS

By

R. C. SINGH CHANDEL

Department of Mathematics, D. V. (Post-graduate) College, Orai,
U. P., India

(Received on 6th July, 1971)

1. INTRODUCTION.

Recently, Lahiri [3, 4, 5] studied the polynomials which are defined by the generating function*

$$(1.1) \quad e^{pxt-t^m} = \sum_{n=0}^{\infty} \frac{H_{n, m, p}(x)t^n}{n!},$$

where m is a positive integer.

In this paper; we shall extend some of the results due to Lahiri [4] with the help of the operator $x^2 \frac{d}{dx}$ or by the modified operator $x^k \frac{d}{dx}$, studied in [1] and [2] respectively.

2. APPLICATION OF THE OPERATOR $\Omega = x^2 \frac{d}{dx}$.

For the operator $\Omega = x^2 \frac{d}{dx}$, it is easy to show that, formally,

$$(2.1) \quad e^{t\Omega} \{ f(x) \} = f\left(\frac{x}{1-xt}\right),$$

where $f(x)$ admits power series expansion.

*More general sequences of polynomials have already been studied in the literature. See, for instance, Srivastava [6, 7].

Now consider the result [4, (3.1)]

$$\left(\frac{d}{dx}\right)^s [H_{n, m, \nu}(x)] = \frac{v^s n! H_{n-s, m, \nu}(x)}{(n-s)!}.$$

Replacing x by $1/x$, we get

$$(-\Omega)^s H_{n, m, \nu}(1/x) = \frac{v^s n! H_{n-s, m, \nu}(1/x)}{(n-s)!},$$

from which we can further write

$$e^{t\Omega} \{ H_{n, m, \nu}(1/x) \} = \sum_{s=0}^{\infty} \frac{v^s n! (-t)^s}{(n-s)! s!} H_{n-s, m, \nu}(1/x).$$

Applying (2.1) and replacing x by $\frac{1}{x}$, we obtain the summation formula

$$(2.2) \quad H_{n, m, \nu}(x+t) = \sum_{s=0}^n \binom{n}{s} v^s t^s H_{n-s, m, \nu}(x).$$

Now replacing t by x and x by 0 , we obtain another result

$$(2.3) \quad H_{n, m, \nu}(x) = \sum_{s=0}^n \binom{n}{s} v^s x^s H_{n-s, m, \nu}(0).$$

In particular, on replacing t by $\frac{t}{v}$ in (2.2), we get

$$(2.4) \quad H_{n, m, \nu}\left(x + \frac{t}{v}\right) = \sum_{s=0}^n \binom{n}{s} t^s H_{n-s, m, \nu}(x).$$

Similarly, on replacing x by $\frac{x}{v}$ in (2.3), we derive

$$(2.5) \quad H_{n, m, \nu}\left(\frac{x}{v}\right) = \sum_{s=0}^n \binom{n}{s} x^s H_{n-s, m, \nu}(0)$$

3. APPLICATION OF THE MODIFIED OPERATOR $x^k \frac{d}{dx}$.

Recently, using the operator $x^k \frac{d}{dx}$ in our previous paper [2], we studied the polynomials $T_n^{\alpha, k}(x, r, p)$ defined by the Rodrigues' formula*

$$T_n^{\alpha, k}(x, r, p) = x^{-\alpha} e^{px^r} \left(x^k \frac{d}{dx} \right)^n \left\{ x^\alpha e^{-px^r} \right\}.$$

Here k is not necessarily a positive integer; it may be any real number.

For the operator $\Omega_x = x^\alpha \frac{d}{dx}$, we can easily prove

$$(3.1) \quad e^{t\Omega_x} \{f(x)\} = f \left[\frac{x}{\left(1 - (a-1)x^{a-1}t \right)^{1/a-1}} \right],$$

where a is any real number except 1, and $f(x)$ admits power series expansion.

Now consider the corrected version of formula (9.1) of Lahiri [4]:

$$(3.2) \quad \left(x^{\alpha m+1} \frac{d}{dx} \right)^r \left[x^{-\alpha n} H_{n, m, \nu}(x^\alpha) \right] = \frac{n!(\alpha m)^r}{(n-mr)!} x^{-\alpha(n-mr)} H_{n-mr, m, \nu}(x^\alpha).$$

From the above result, we write

$$\begin{aligned} & \sum_{r=0}^{\infty} \frac{n!(\alpha m)^r}{(n-mr)!} \frac{t^r}{r!} x^{-\alpha(n-mr)} H_{n-mr, m, \nu}(x^\alpha) \\ &= \sum_{r=0}^{\infty} \frac{t^r}{r!} \left(x^{\alpha m+1} \frac{d}{dx} \right)^r \left\{ x^{-\alpha n} H_{n, m, \nu}(x^\alpha) \right\} \\ &= e^t \left(x^{\alpha m+1} \frac{d}{dx} \right) \left\{ x^{-\alpha n} H_{n, m, \nu}(x^\alpha) \right\} \end{aligned}$$

*. A similar polynomial system was studied earlier by Srivastava and Singhal [8].

$$= \left[\frac{x}{(1-amx^{am}t)^{1/am}} \right]^{-an} H_{n, m, \nu} \left[\frac{x}{(1-amx^{am}t)^{1/am}} \right]^a.$$

Now replacing t by $\frac{t}{amx^{am}}$, and finally x^a by x , we get

$$(3.3) \quad (1-t)^{n/m} H_{n, m, \nu} \left(\frac{x}{(1-t)^{1/m}} \right) = \sum_{r=0}^{[n/m]} \frac{t^r n!}{r! (n-mr)!} H_{n-mr, m, \nu}(x),$$

which is believed to be new.

Applying the same techniques, the above result can also be obtained from [4, (8.2)]

$$(3.4) \quad \left(\frac{x^{m+1}}{m} \frac{d}{dx} \right)^r \left[\frac{x^{-n} H_{n, m, \nu}(x)}{n!} \right] = \frac{x^{-n+rm}}{(n-rm)!} H_{n-rm, m, \nu}(x).$$

Now we recall our earlier result [2]:

$$D^n = \sum_{j=0}^n \binom{n}{j} T_{n-j}^{\alpha, k}(x, r, \rho) \Omega_x^j,$$

where $D = \alpha x^{k-1} - \rho r x^{k+r-1} + \Omega_x$ and $\Omega_x = x^k \frac{d}{dx}$.

Replace k by $m+1$ in the above result, and denote

$$\alpha x^m - \rho r x^{m+r} + x^{m+1} \frac{d}{dx} \text{ by } \phi \text{ and } x^{m+1} \frac{d}{dx} \text{ by } \theta.$$

We thus obtain

$$\phi^s = \sum_{j=0}^s \binom{s}{j} T_{s-j}^{\alpha, m+1}(x, r, \rho) \theta^j,$$

whence we have

$$\phi^s \left\{ \frac{x^{-a} H_{n, m, \nu}(x)}{n!} \right\} = \sum_{j=0}^s \binom{s}{j} T_{s-j}^{a, m+1}(x, r, \rho) \theta^j \left\{ \frac{x^{-a} H_{n, m, \nu}(x)}{n!} \right\}.$$

Now applying (3.4) on the right-hand side of the above result,

we get

$$(3.5) \quad \phi^s \left\{ \frac{x^{-a} H_{n, m, \nu}(x)}{n!} \right\} \\ = \sum_{j=0}^{\min(s, [n/m])} \binom{s}{j} \frac{x^{-a+jm} m^j}{(n-jm)!} H_{n-jm, m, \nu}(x) T_{s-j}^{a, m+1}(x, r, \rho),$$

which appears to be new.

In our previous paper [2], we also have a result

$$\Omega_x^n = \sum_{j=0}^n \binom{n}{j} T_{n-j}^{-a, k}(x, r, -\rho) D^j.$$

Replacing k by $m+1$, we write

$$\theta^n \left\{ \frac{x^{-a} H_{s, m, \nu}(x)}{s!} \right\} = \sum_{j=0}^n \binom{n}{j} T_{n-j}^{-a, m+1}(x, r, -\rho) \phi^j \left\{ \frac{x^{-a} H_{s, m, \nu}(x)}{s!} \right\}.$$

Now using (3.4), we establish the result

$$(3.6) \quad \frac{m^n x^{-a+nm}}{(s-nm)!} H_{s-nm, m, \nu}(x) \\ = \sum_{j=0}^n \binom{n}{j} T_{n-j}^{-a, m+1}(x, r, -\rho) \phi^j \left\{ \frac{x^{-a} H_{s, m, \nu}(x)}{s!} \right\}$$

We can easily prove

$$(3.7) \quad \theta^s (u, v) = \sum_{j=0}^s \binom{s}{j} \theta^{s-j} (u) \theta^j (v).$$

Thus we have

$$\begin{aligned} & \theta^s \left\{ \frac{x^{-n} H_{n, m, \nu}(x)}{n!} \cdot \frac{x^{-p} H_{p, m, \nu}(x)}{p!} \right\} \\ &= \sum_{j=0}^s \binom{s}{j} \theta^{s-j} \left(\frac{x^{-n} H_{n, m, \nu}(x)}{n!} \right) \theta^j \left(\frac{x^{-p} H_{p, m, \nu}(x)}{p!} \right) \\ &= \sum_{j=0}^s \binom{s}{j} \frac{m^{s-j} x^{-n+(s-j)m}}{(n-(s-j)m)!} H_{n-(s-j)m, m, \nu}(x) \\ & \times \frac{m^j x^{-p+jm}}{(p-jm)!} H_{p-jm, m, \nu}(x). \end{aligned}$$

Hence we obtain

$$(3.8) \quad \theta^s \left(\frac{x^{-n-p}}{n! p!} H_{n, m, \nu}(x) H_{p, m, \nu}(x) \right) \\ = \sum_{j=0}^s \binom{s}{j} \frac{m^s x^{-n-p+sm}}{(n-(s-j)m)! (p-jm)!} H_{n-(s-j)m, m, \nu}(x) H_{p-jm, m, \nu}(x)$$

Remark:—Particularly for $m=v=2$, all the results of this section will be reduced to similar results for Hermite polynomials.

4. EXTENSION OF THE GENERATING FUNCTION.

From the generating relation (1.1), we write

$$\sum_{n=0}^{\infty} H_{n, m, \nu}(x+y) \frac{t^n}{n!} = e^{v(x+y)-t^m}$$

$$\begin{aligned}
&= e^{vty} \sum_{k=0}^{\infty} H_{k, m, v}(x) \frac{t^k}{k!} \\
&= \sum_{n=0}^{\infty} \frac{(yty)^n}{n!} \sum_{k=0}^{\infty} H_{k, m, v}(x) \frac{t^k}{k!} \\
&= \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(ty)^{n-k}}{(n-k)! k!} H_{k, m, v}(x) t^n .
\end{aligned}$$

Hence

$$(4.1) \quad H_{n, m, v}(x+y) = \sum_{k=0}^n \binom{n}{k} (ty)^{n-k} H_{k, m, v}(x) .$$

Also

$$(4.2) \quad H_{n, m, v}\left(x + \frac{y}{v}\right) = \sum_{k=0}^n \binom{n}{k} y^{n-k} H_{k, m, v}(x) .$$

Put $x=0$ in the above result, so that

$$(4.3) \quad H_{n, m, v}\left(\frac{y}{v}\right) = \sum_{k=0}^n \binom{n}{k} y^{n-k} H_{k, m, v}(0) .$$

Again from (1.1), we have

$$\begin{aligned}
\sum_{n=0}^{\infty} H_{n, m, (u+v)}(x) \frac{t^n}{n!} &= e^{(u+v)xt - t^m} \\
&= e^{uxt} \sum_{k=0}^{\infty} H_{k, m, v}(x) \frac{t^k}{k!} \\
&= \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{(ux)^{n-k}}{(n-k)! k!} H_{k, m, v}(x) t^n .
\end{aligned}$$

Therefore,

$$(4.4) \quad H_{n, m, u+v}(x) = \sum_{k=0}^n \binom{n}{k} (ux)^{n-k} H_{k, m, v}(x)$$

Similarly

$$(4.5) \quad H_{n, m, u+v}(x) = \sum_{k=0}^n \binom{n}{k} (vx)^{n-k} H_{k, m, u}(x)$$

Replacing u by u/x in (4.4) and v by v/x in (4.5), we derive

$$(4.6) \quad H_{n, m, \frac{u}{x} + v}(x) = \sum_{k=0}^n \binom{n}{k} u^{n-k} H_{k, m, v}(x)$$

and

$$(4.7) \quad H_{n, m, u + \frac{v}{x}}(x) = \sum_{k=0}^n \binom{n}{k} v^{n-k} H_{k, m, u}(x)$$

Putting $u=0$ in (4.7), we further derive

$$(4.8) \quad H_{n, m, \frac{v}{x}}(x) = \sum_{k=0}^n \binom{n}{k} v^{n-k} H_{k, m, 0}(x)$$

Now comparing (4.2) and (4.6), we get

$$(4.9) \quad H_{n, m, \frac{u}{x} + v}(x) = H_{n, m, v} \left[x + \frac{u}{v} \right]$$

ACKNOWLEDGMENTS

I wish to record my deepest and sincerest feelings of gratitude to Dr. B. B. Lal, Principal, D. V. College, Orai, for the facilities that he has provided me. My sincere thanks are also due to Professor H. M. Srivastava of the University of Victoria for his suggestions regarding the paper.

REFERENCES

- [1] Chandel, R. C. S., "Operational representations and hypergeometric functions of three variables" : Proc. Nat. Acad. Sci., India, **39** Sect. A (1969), 217-222.
- [2] Chandel, R. C. S., "A new class of polynomials" : Indian J. Math. (To appear).
- [3] Lahiri, M., "On a generalisation of Hermite Polynomials" : Proc. Amer. Math. Soc., **27** (1971), 117-121.
- [4] Lahiri, M., "Some recurrence relations and the differential for the generalised Hermite polynomial" : J. Sci. Res. Banaras Hindu Univ., **22** (1969-70), 78-83.
- [5] Lahiri, M., "Integrals involving generalised Hermite polynomial and its integral representations" : Ganita, **21** (1970), 69-74.
- [6] Srivastava, H. M., "Finite summation formulas associated with a class of generalized hypergeometric polynomials" : J. Math. Anal. Appl., **23** (1968), 453-458.
- [7] Srivastava, H. M., "On q-generating functions and certain formulas of David Zeitlin" : Illinois J. Math., **15** (1971), 64-72.
- [8] Srivastava, H. M. and Singhal, J. P., "A class of polynomials defined by generalized Rodrigues' formula" : Ann. Mat. Pura Appl. Ser. IV, **90** (1971), 75-85.